Maths 1.12.22
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If you found these too easy, try the challenge questions below
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image1.png
Four people have 8 grapes each. “

How many grapes do they have alfogether?

grapes
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Teddy has 24 cars fo tidy away. a‘!

8 cars fit in each box. 0

How many boxes does he need?

boxes
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Complete the bar model.

40
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Fill in the boxes.

Use a different number in each box.

SOK: =
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Complete the number sentence.

x4=48 +H4

Amir is dividing a 2-digit number by 3
His answer is a whole number.

What could the missing digit be?

List all the possible answers.




